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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1

o 0O w P

Q.No: 2

Passage:
e = fiu U T @ gge U@ Y U & 9ed Sfd SR o faweul @ 9ae Sif-

Bo AT g8 YR & el HYF 4, IS 990 I/ UaRg g & Ueb o Ueet ad faan od 3 el # 47t & wigie Wt i § te 539 Y1 SReie & 9 79
3R wa W gU 32 Sl Ui-ae! nefafg @ifRu ik wiwwrad F wyufy & R w gy v@ av 3 smeflafe Rar it ¥l € uw ok we g ol 81 Swripufy e &
3T # Uw 3T U m @ A o & 5 el % R H Y 8 e 81 TR o o, TEe §U SR 99 Y iR 9ed WY UE $i § oft W 96 T o9 HRat @ & R @
dt 19, W % R 99 SR 8d 217 SR g4 TR 39 R

ufearen # ueE FyfEerem # 1 e i & R # Hia T S 3Mud Sl T dl S, 3 IR 39 ufaE SR #t i T8 S FeT 81 399 09 ATE a1 € 6
SR # RER Wed @ Hig sraq & g ot Te qaan 1 € gan T o1, 3R 98 $ed-Hed ST Tal HY ST, Sl ¥ offg g8 T 93-58 dgl, e wer, s
31 4t 3T T SifE R S| SO G- GHiegel Wil & FUs! 9k e ¥ HaN! Uihg a1l & sid gHed s A TR 9Uf gEHed 9§ S} Hed UH 3R et §
TR St 3 sifom STuitEl ToR o 41 I F oM Ad T Y H YT A 910, 50 Gy H I TP GR Be1 U, Y S S o 57 AW’ § Ay IaThY Mel off F gy F
T HUY HE|

F! S IR G A I B &) GHgE 3R IuH | ofl-9H A e SR WX € Tebdl €1 98 g9l iR ot & el § b org o w R 3 il @ dem we @ @
forgin il oft @1 G o1, S WY S T U1, % 9d gU R R =, 41 O/ o g @ e 6 3 E = 91 9ga @ e ot 7 gu 91 Seet P s RA-w-fem
Tact? € St T4 T BT, 7Y BT 8H1, T Soe i, UH A g i a8 Tt e el o ofv 3% Bt a8 § o fIER 4 ST Yo 951 UHT g o AR Uad Yo et
IS & S

fou mu fawedl § @ Iudad wiw & forw IRa wide &1 Tua Fifem
STo wifey g8+ WRd & Ivelt wgg

TG ant X

ufearen &1 gardt fyyfemag

% Tifdig i W ot wiear

Passage:
ymn: e feu U TR Y vewk U U VA & e Sfud IaR ard f[ade! &1 9o Sife-

Bio SIfER E8 WIRA ¥ Sracll FYg 4, THHT Ud S5l Uaeg 8 & U (& Ued aa 3 o A it A 478 & Siee Wl g | g S MUl e 9 O
3R wE @ g I FEl YI-ueT smefiafg ey oik wewert 3 upufa & R W ey e a1 91 nfiale faan un U € v ofR ge arg el §1 SwRipufa frem &
3BT H Uw o7 TR Y R U @ < 5 Al & W F B 8 e 21 R 0 o, Trad 3U SR 99 Y SR s 9 UE S H o TR 96 M| o e O & forg wet
@ &, T F R F 99 e 80§10 iR W m AT R

oftaren # et fyfEame § 1e il R & gwm @) e @ B el e T a9, e 2 59 ulee SR @1 i W B e 81 399 99 O s €
SR T GRER WTed @i Hig Ser & oy Wi T gaeme & 8 geman w4, SR 98 Sed-ded ST el W S, siEt F oy 95 7 92-wS dgl, g wmer, diansi
31 o I T S R S| U HH-gN gegl @t F Hust ok geiy § Fart uihe gt & d 9ued sud e TR auf gaHed § wifdR wed UF #R sredtaar
i oft & eifon Fufte 9ov oM 31 2w F M a1d 92 9 FH Yd T 9, $9 Yy T IE UF SR FHE 1, U AT S O S0 IR ¥ ary I T oft & wdy o
FT AT FE

FAB! W SR T F IF ST B GEFET AR FOH | -5 F T S W 8 Tl 81 I8 gata ok off S grgan § o A W R 5 Al @ dem we 3@ @
Rl el St 1 3 on, I W1y B A o, I 4N gU I W 99, U1 9 3 g @ T | 3 9 = 91 9ga @ O of 72 gu 91 et i e eeew-fem
Ttz & it T HIE BT, T ET S, T Sod g, T 8 g et e e ot oiR 3 31 ag o fAeR 4 ST yar 331 U g < s WeY Uea gt
TS g S



o 0O w >

Q.No: 3

o 0O @ >

Q.No: 4

onNn W »

e # 3 iRefR" wea #___ SoRwi g
ﬂ?:

fire

IR

R

Passage:

e F2 few mu wriw @ ugar gp U U & wad Sfad IR ot et @ 997 Fifs-

Bl SR §H YRA & el g 4, THST 950 921 UGg B & U 1o+ Ugd ad f3u o9 o feet & 478 & siee s g § de S U1 e $ 9 O
IR el T gU I FE UT-30T el =Ry SR T apely & R W gy v 9 9 amiais f3ar un ¥ @ v iR we are et ¥1 SuRiyafy P %
SR H U 3 Ty <2 4 < 3 i Al & # ki 81 w57 %1 iR w1, <ee U W 99 Y SR UEF WY U6 HH H &l 1R 95 Y1 99 HIE O & forg wT
@ A, P F R Y9G SR g §17 R T WA w)

ofearen & genet fufraras & 1E Mfde Ris & dwm 1 fia w@m B 0@ s T 9, s I3 59 ufas e & fid W ) $el 81 599 g9 O1E & b
SRR H TRaR UTed @1 g Stae & o o U quan S 8 gan w0 v R U FEd-ded Sl el W I, et A offy 55 & 93-as dig, e wer, et
F1 off I T i WR o) U ETR-TeR geiaut @Et & HuSt ofR guiy § Fardt wihe el & §ra audd gad are TR gul EHed o Wi Wes UF R st H
et Sit 3 SifenT STfUERY ToR S A1 S F A AT S S BT YT A W, §9 G T ITH U IR BT U, "1 S A $H HGER F A FaThL M off I Gae 7
TS HTY FE

FAB! S AR THIH A IF HTH B IEFET R ST | S-S F T ORT WG ) Thal 21 T gufie R e dredl § o 3 w5 3 Al Y e we 3@ @
gy wiielt St 1 S w1, I WY BT AT o1, 3% Sa gU I W 99, 91 99 § g 9 Y A1 3 O 9= 91 9ga § e off 96 g 41 SAet et oE feA-m-fem
Teal? & S T BTa g, U §Td R, Y siara g, T A 8 6 ag it e el ot oik I 1 a8 F o R & 3w Yo 351 T gen & g9 wed gega gt
@S g1 S

Iudad T F HTUR T HUH FT I9T DifsTe-

glo wift g8+ Reeht & 4 & gy @t siwward & de o Tl

FTo WIfhR g8 ®1 ufearan & voiret Ryl & 1o Mide Riv & e &Y g 7@ & o mr an

WY wTed 0 S smwiiger & il off & sifew SeRiftert 9w oma A1

Fio THT §HF TG & WA T SfI¥ BF TE §Y FET UT-HTUSHT Seitaie Ay ofR widwrard = wyufa 1 smeftafe & & 7 #= faar am

Passage:
e R g U i F Uee U U U & 9ed 3Rd IR O fadwen &1 997 Sifu-

Tl T §HA HRA & 3rel YT U, THST g 3514 UGFg 6 & U (44 Ugd aa faa o d fGeelt & 47 & Sigi[e Wil Qewmard § 9 &34 01 g & 9 I
3R T §U I Fel U1-310 meiate afe i werard | apuf & RR W g v e 9 ameitafe fmn un O € ue o e A At 31 Swpdfa fRame &
ST U@ &7 Ok o0 ) 4 o 31 At & R o P 81 W67 21 R R o, TEad §U SR T T R Tad WY U o H &l R 36 MUl O Hed @ & fore st
A &1, e % TR T SRR i 817 3R o iR a9 @

Ufearen # deTe fayferem I 7F e R & SR B e W B o1 S T s, VT I 59 Ui SR @1 Hid @ 9 o9 81 399 99 O o €
SR H YR HIEd ®1 A1q STe & g 1ff Ue [eem &1 g1 gar T v, 3R T8 Sed-ded ST Tl WR 3, il § Sfig a5 w1 93-93 dr, e waR, siasi
B1 il 39 T i HR S| U WIH-GR Yeiagel @rdl & HuS! oiR gEiy § Fardt 9t gel & d" 9Hdd sad [are TR quf gEHsd § e wed UH R aredtaar §
et Sit % Sifem STfiER ToR S A1 S F S ATd S SY BT T A W, 59 Gy H IEH U IR Bl U, " 0 S O 57 SHGER F T JaThe M off F Gy 7
T AT Fg

TAB! A SR THIH A TS HTH B GHS SR ITH | S-S § T 91 TR & Fhal 21 T8 FHie R Hi F 1R § 6 o G w G 3 a6 e ve @t
forgi wifeft o Y S w1, I W A T U1, 3% AT §U IR W T, 91 o9 § g @ e d @ o a= 41 aga @ e o 71 U 91 S el o oA
Tgit? & swftl a1 Srer g, U e €1, U sierd g1, ¥ A 8 i g Tt e iieh St oik % @t aw & of R & ST oo 951 T gan | At Sed geuar el
&g g st

ITLRT TR F SHTER HY WIEH F R 99 TR 8 o1 B § | e s ar
Blo Wi g A
TGS @t TiwwrErd 3

T Tifie Rig 4
e ot 3



Passage:

e SToTe & Ugde Y T UHl & Ul 3fd Ik a1 el &1 997 Sifsi-

FreR-4t ol ¥ 3 @

@ Pl =0 o), vy o @ At

Y US TS & Ua W STl aca il

BI-BI Urell 1 =R 7§ @7 F e,

T BT BT F UR-wR Y T IR

fereg ifgafl &1 g ¢ fobser arTer wR-

g 31 ¥, ¥ 314 T, T3 gUE o
Q.No: 5 I a1 R U § 5 H $o om-aal

wda # T F 0D g-fod @ @a

T @ € oy w w w3

Be-BI T ¥ F&1-381 R sea

fepere! Ta-Ud Fid @ § MM & e

I 5 U W, UaH & 9 W, T ToR B SN

e @ & fowet 59 4 g ar-aide

el T & Udd-RrE’) 9 S8 59,

Uilt, welt, B, ST § € 81 B

e & A Sude Skl & T B A SaEe-
Ty RiE e

wETRdt aaf

s et frren

rEare agdat

o 0O @m >

Q.No: 6 Passage:

3w T B Ugdt U U URHT & Ted 3R Ik aIe fidedl o1 Tae Sifem-

TeR-T 3ffg B3 J BN

A Fel o uel, oy o €«

YT US TS ¢ U IR STal dedh! ol
BIC-BI UMl PI <R ¥ T H v,

T g1y ggT F - B T R
ferg +ifgaff &1 e & fran umTa -
¢ 1A €, 9 3d 8, TS gU gl ok

I A F U 6 o ol
udd &1 g1l & WIS gor-fsdt &1 /e

Fa 7 & arg 3w w ot g
BIe-BIc TEIHI 4 Io1-361 R Fed
P! Te-ue i I8 § S & unTer?
3 & vad W, ua & 37 W, B A9 B SN



o 0 w >

Q.No: 7

T 37 g fewe 771 3 S I-ER1?
el 7T & Uda-RRRaRt 9% 9 HAAE],
T=ft, welt, T, ST ® Sha 2@ T

e A ek e 9y &1 e 82

aafe e iy
Tur W& Y
et wiftr
e |y

Passage:
Eer: Sroai & Ugd Y@ T U & Yed 3fad SR aret fAweul &1 ggq Fifvm-

MR- 301G B 3 BET

aH Pl =a g, uy @ @ e

1 IS TS & U9 TR STl @t ol
BR-E1e el 1 7w w8 a & e,

ZHT 81y g8 & WR-W HId ¥ SR

g sifgafl @1 g 8 formn amrar ok
g ¥ §, 9G M €, TS gUE o

ITH 914 R Ul § T H o oR-ddl
udd 31 uret F Ui ger-fedt &1 @d

T T8 § o 3w W I g g
BIe-BIC T ¥ IB1-381 R s
feree! Ta-ud Fiw @ § HEHH & e
3 5 ged W, A & 9 W, 5 ToR B S
e @ € fowet 59 4 g B
el T § dd-Rra’) 9o S8 5],
U, welt, B, Sl § di 381 B



Iuder Uikl F SER, Tda-RRe a0 Haiee w1 e T 82
=i

T

fCalibg

STy

o 0O & >

Q.No: 8 Passage:
e FHrei B Ugd IR MU U & U9 Sfd SR ard eed! & 9ae Bif-

TeR-t 3ig FR T BIEM
n el =l g, Uy @ Wl
4T TS T € Ual UX STal aedl bRt

BIe-BiT drdf BT =R ¢ 1 7 {2,
ST BTY T & UR-WR BT 6 3R

fareg sifgsit &1 g & fva unTe k-

¢ ¥ &, 9¢ M0 8, 7S U Bl o

F a1 B2 urn § 7 oo SE-ad)

udd @t g1l & 0 gl o1 @d

Fel 8 & arg ww w9 g gl
BIE-BIE WO ¥ I&1-361 R e

e ua-ud & W8 § EHH & unTa?

U s yaq W, Uad & 31 W, e ToR & S
g & € fpwer 7 4 2 9 8-918

R, Fll, T, ST A dE 81w

I dfEdl & SEER, TR, ®ell, T, sl i 91 e ve 87
TEa BT a

Fie FT @ AN

T & §RT T H S

o 0 wmw Pp

It &1 TAd 9y W 9§l



Q.No: 9
A

é
b
D

Q.No: 10

o 060 m >

Q.No: 11

Q.No: 12

o 0 m »

Select the correctly spelt word.
flexebility

recieve

pungint

echoing

In the guestion below, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the
option that provides the correct final order.

P. So, he sent for the fisherman, and asked him to procure four more fish.

Q. The fisherman asked for three days, which were granted, and he then cast his nets in the lake, and again caught four different coloured fish.
R. The sultan was delighted to see he had got them and gave him again four hundred gold pieces.

S. The Sultan was very much astounded and wished to see this marvel for himself.

SRQP

PSQR

SPQR

PQSR

In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and choose the
option that provides the correct final order.

P. In 1899 General Horace Porter, our American Ambassador to France, undertook to find the remains of John Paul Jones.
Q. Through old letters and records he succeeded in locating the discarded cemetery, and the city authorities gave him permission to search the ground.
R. This work was begun in 1905; and in a little under two months, the leaden coffin which held the body of Paul Jones was discovered.

S. So perfectly had the body been preserved that the features of the hero could be unmistakably identified with those of his portrait on the
Congressional medal.

PQRS

QRPS
PSQR

SPRQ

In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most
logical order of sentences from among the options.

P. The Railway Minister said the plans would bring in state-of-the-art technology and superior operational efficiency.

Q. The move comes amid the Centre's plan to corporatize production units like the Integral Coach Factory in Chennai.

R. The Ministry of Railways is looking at a complete redesign of coaches and even procurement of full train rakes from foreign suppliers.
S. This is subject to the condition that they set up their facility here to comply with the 'Make in India' policy.

PRSQ

RSQP

PQRS

SRQP



B.No: 13

o 0 m P

Q.No: 14

o 0 m >

Q.No: 15

o 0 @™ >

Q.No: 16

The passage consists of six sentences. The first sentence (S1) and the final sentence (S6) are fixed. The middle four sentences, labelled as A, B, C and
D, are in the jumbled form. Rearrange the following sentences into a meaningful sequence.

S1. The 18th and 19th century brought a deeper understanding of how the willow leaves work to alleviate the pain and swollenness.

A. In 1793, the Reverend Edward Stone carried one of the first clinical trials, using willow bark powder in patients with malaria.

B. Later, Johann Buchne and Henri Leroux purified willow bark to obtain salicin, a yellow, needle-like crystal.

C. But it was the Italian Raffaele Piria who discovered and described, in 1838, the chemical structure of salicin (a glycoside).

D. He then split the salicin molecule into salicylic acid, thus turning the yellow crystals into colourless ones.

S6. By 1859, industries started to make salicylic acid at a large scale, widening its use as a medicine.

BDCA
ABCD
DCBA

ADCB

Read the given statements and answer the questions that follows.

Assertion (A): Every country should integrate the principles of
sustainable development into its policies and programme.

Reason (R): Environmental resources are a Nation’s wealth.

A is correct but R is not correct.

A is not correct but R is correct.

Both A and R are correct but R is not the correct reason of A.

Both A and R are correct. R is the correct reason of A,

Which of the following habitats has not been included as Indian
biodiversity hot spots?

The Himalayas
The Western Ghats
Indo-Burma Region

South-Eastern Hills

In which year the First battle of Tarain was fought?
1206 AD

1191 AD
1175 AD

1192 AD

fau o B @ ufgn S AR fiw T s F IR

BT (31)
: Ud &N Bl Tad e & figial &1 s Hifet iR wiEa # ueiea & Tl

FROT (F) : TAfaIviE T AP F T B

A 8 2 AT R 7T 21

A T § A R W B

A 3T R ST & €1 R, A Y Wl @ TE 1
A 3R R 41 98 €1 R, A BT TE FRO I

Fofefad & § 19 a1 omEw yRdm Sa fRfawar g @i & o & wite 528 e mn 2

fewTeg

gf3ft are
$et-aaf &=
Efdror-gdf ueifat

AU BT UYT g o aef w7 W ?
1206 $Wi

1191 St
1175 st

1192 Wt



Q.No: 17 Which of the following characteristics of soil does not influence the qaaﬁﬁaﬁﬁaaﬁ#aﬁq-%ﬁ e W= F u e T %2

process of soil erosion?

A Soil permeability gt Y ureTean

B Soil texture firdt &t a9mae

o} Organic matter FEfAE ugrd

D Soil level fgis ww

Q.No: 18 After whicj'h of the fol!owing war East India company got the Diwani of Fofifes # 4 50 g8 & ¢ $w 3few ot &1 @, R ik S @t darit
Bengal, Bihar and Orissa? forett

A Battle with Marathas TRIST & WY s

B Battle with Tipu Sultan Y g & 1Y S

C Revolt of 1857 1857 &1 fagig

D Battle of Buxar CELEECR!

I WY W qd # ATl oot B o1 gt g1 3 Y AT oS Al B o1 gt

Q.No: 19 One of the so-called "Nine Pearls of the Court of Akbar," a renowned Hindi ftig Rt B "oy F aRaR F 2 B 3§ o A

poet, was:
A Faizi Weft
B Abul Fazl gA Bord
(o] Abdur Rahim Khan-i-Khana gy EL "H-T-EET
D Birbal dRaa
Q.No: 20 Which article imposes a fundamental duty upon parents to provide P I e AIa-Todl IR 6 I 14 99 Bt g F d1g 304 T B R F AR
: opportunities for education of their children between age 6 and 14 years? U ®A &I Hifcie Pded (i Har g2
A Article 52 3Jee 52
B Article 29 HTE 29
C Article 21 T 21
D Article 51 A DT 51A
Q.No: 21 S:nrii:hg?the reign of which of the following emperor ‘painting” was at its L T e e
A Jahangir wErfi
B Both Akbar and Jahangir a3 SRR gl
C Shah Jahan BiE
D Akbar HPpay

| i ial | i ial uni . " o
Q.No: 22 Today, large industrial houses are as commonplace as the industrial units o, EIT&-} et 33 A %ﬁ G e et

of many
A MNC's FE qgia Fufl
B states Bir]
C religions UL
D groups QTIE.T
Which of the following is not a trade practice adopted by sellers to dupe fadbarat grT oS S arelt el & @ - o gyt Susiedsit s e
QNo: 23 cumers? % fou 7 22



o 60 @ >

Q.No: 24

o 0O m™® >

Q.No: 25

o 0O W

Q.No: 26

o 0 w

Q.No: 27

o N0 m >

Q.No: 28

o 0O @ >

Q.No: 29

Defect ve and Unsafe products
Adulteration
MRPs on products

Misleading advertising

It is projected that India has a total renewable water resource base
of:

1887 sq. km/annum
1867 sq. km/annum
1877 sq. km/annum

1897 sq. km/annum

Which of the following ‘great vows’ of Jainism was given by Mahavira?
Not to steal

Not to take life

Not to own property

Celibacy

Which of the following is not observed in markets?
Control on malpractices

Unorganized consumers

Consumers ignorance

Profiteering Priorities

Diplomatic immunities to staff working abroad will come under which type

of interests?

Permanent interests of a nation
Secondary interests of a nation
No interests of a nation

Primary interests of nation

Which of the following is the term used for general building up of land
surface because of deposition of material?

Aggradation
Deposition
Denudation

Alluviation

Which of the following was not a reason of discontent of Indian soldiers
in British ruled India?

The tough recruitment competition and training for Indian
soldiers.

The news that cows and pig fat is mixed in cartridge.

The service conditions were highly biased in favour of British
soldiers.

Inclusion of clause to serve overseas if required for British
government.

Syl SR SRRFE SauTg

JAG! TR THIRYT
Y fagmae

g SFTHF T T § % uRd % o

1887 atf fdt/ad
1867 aif et /ad
1877 & frrt/ad
1897 T freit/ad

oF ydf & Fmfifed 4 @S- geE aa 9grdik A e
AN TE P

Sfta =gt o=

wufy &1 Tt =g g

serad

Frofifea & 9 g e & 9 S S 27
FeTaR UX forimor

ST I
Fuviersit F g
TATETERT F wrufiwang

e & wria wrafal o IeFie 39ad 59 ueRr & fRdl & sidia e

T F = fRa

g ¥ Rdflew R
I T PIS o a8t
g & wufire i

Tl & G S HRU YT ST T & " i ¥ e et § S a6-
T =15 WA T e 22

EERES
Frgraor
SATSTGA
weig

Fafefaa § @ o= ey wid Yra & 4rda AR S SRidY &1 SR T U

yrdta At ¥ Rie e wdf uferifiar s ufreon
PR | T R IR H T e a1 3 g
fafew &f et & var # 91 Id srafis vamrd? o

fafew weoR ¥ forw smawas g9 w fagen # a1 31 & fow @3 it s

T o TSN T T MR &



) . 5
Which one of the following statements are correct? Fraffas 3 8 &9 @ @

1. GNP = GDP + Net factor income from abroad 1. a _ A L ﬂﬁala 3

Q.No: 30 ional is “National p
2. Net National Product at factor cost is “National Income 2. R AT W Y AP I " am &

3. National Disposable Income=Net National product at market prices +
3. Y WIS S = S9N Hed W S AP Id1E + W 3y o aiHe R
other current transfers from the rest of the world. A R s b

A 1and 2 19R2
B 3and1 3dkR1
[ All of the above G‘W{hﬁ'ﬂ‘ﬂ
D 2and 3 233

Q.No: 31 \';'\;r:i);;in;z:t;? :;;tlr:ment of surrender’ from the Pakistan after Indo- 1971 % O @ ¥ a1 T 3 for % T I e e R

A Julfikar Ali Bhutto gferer et 4zt

B Parvez Musharraf TR JINE

(o] Yahya Khan qTedT @

D Amir Abdullah Khan Niazi 3 Srsgean @ AT

Which of the following pollutant is majorly found
Q.No: 32 in the automobile exhaust and causes eyes and Frofifea # 4 oF 1 UguF T8I FY ¥ SR e § gr s T 3R aifEl SR WSl 3 e el Hear 87

lung irritation?

A Carbon dioxide HTa E'Iﬁ&ﬁ'ﬂﬂﬁ's

B Lead i

C Suspended dust IEGIEGR G

D Nitrogen Compound Hﬁﬂﬁﬂaﬁ‘ﬁ

Q.No: 33 Ln agditi?n to well-(.jrained' Ioamy‘r soil, coffee demands a warm, MW?WWE@W&@*W,W@TW mmaﬁm@miﬂﬁ%l
umid climate. Decide which nation produces the most coffee. B W 3T G AfE STH BT IAG BT ¢ 96 9 Bl

A Brazil EIEI]

B Egypt [LEVAEH

C India HRA

D China Einl



Q.No: 34 Which one of the following west flowing river has the largest drained Fraferfia 17 4 frg afim & st ag A T w1 S Ao R dg 2

area?
A Kaveri Eacril
B Narmada fer
g Mahanadi R
B Krishna Fn

Q.No: 35 Which of the following emperor started the tradition of keeping memoirs? fufafed & & g wore 3 g WA @ wua %I\“Efﬂ?

w

A Shahjahan TMEWgl
B Babur CICH

C Akbar Hpdy
D Aurangzeb SIOECH

Which religion gained popularity in the post Gupta era with extensive Royal GI&U YRd ¥ U ISTH 1T TR&U & 1Y T &l ¥ a1 5w wnf 3 Hefar it

Q.No: 36 patronage in South India? I?
A Jainism o o
Buddh sm e
Hiduism g ud
Bhagwatism HRTAddIg
Q.No: 37 What is the meaning of *Caveat emptor’ as written on products? Famgi w ford mu Hiawe TR =1 @ o &7
A Let the consumer tests FUHIET B T F T
B Let the seller beware fasran aﬁ‘maur—rmﬂ ?f
C Let the product be used 3dig &1 IUGHT A é
D Let the buyers beware TWHER) B &Y= W/ &
Q.No: 38 Which of the following cause maximum amount of soil shifting? Fafufaa o 3 fras sRo sfisan omr o T R '@?IT%7
A Water urht
B Animals b
C Rain auf
D Air aq



Q.No: 39
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In which of the following year U.S.-India Civil Nuclear Agreement was
signed?

2008
2001
2005
2011

FrafefEa @ 4 fog o smifter-ura i o e W ewer ey e 4

2008
2001
2005
2011

o Uy o gd H mafy gof # o g 71 o T mufy oof A8 # o wdih

What is the tenure of the election commission in India as given in the
constitution?

6 years
8 years
Constitution is silent on it.

5 years

Assertion (A): In some places artisans and craftsmen participated in
the Revolt of 1857.

Reason (R): The British policy of ‘one-way’ free trade destroyed village
industries and handicrafts in India.

A is false but R is true
A is true but R is false
Both A and R is true but R is not a correct explanation of A

Both A and R is true and R is the correct explanation of A

WU F IJER YRA ¥ gA19 SHTENT &1 SST P g ?

6 T
8 Wid
ifdeur T wEE 81
5 W

AT (A) : T8 WM R FRIRT AR Reaerl 3 1857 & fage & wm fern
RO (R) @

THRWT Tad SR # fafesr a7 ura & anfior et ok safied &1 T9F B &
AFT R WGRIT R

ATUEWIR AR

A 3R R 2H1 79 & AT R, A It 9 TrEn TE

A 3iY R €Y wrea & S R, A ot Wt s 3

Which of the following is not an objective of SVEEP program run by Election i@ & & & 91 URd fafem amai grr d=ferd wiu (SVEEP) SrieH &1

Commission of India?

Purifying the electoral rolls

Voter education program

Addressing youth apathy in electoral participation

Punish the people with two voter cards

Which of the following layer of atmosphere has Ozone hole?

JeTa T 87

TG gH F1 gfEHeor

wegTn fnan Frdw

AT urrerdt & el @t SeRiE B g wR
3 diex FTE a1 A B EfEd A

agrsd ® Pt # 3§ few wa 7 siei fog 22
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Q.No: 45
A

B
C
D

Troposphere
Stratosphere
Ionosphere

Mesosphere

Day time noise standard prescribed for residential areas in India is-
65 dB
55 dB
50 dB
75 dB

Which one out of the following is not a fundamental Right?
Right to freedom of religion

Right to equality

Right to strike

Right against exploitation

ghwisa
HHAY Hed

uRa ¥ AR &t & fa Pt T % w9 OR @ 9 §-
65 dB
55 dB
50 dB

75 dB

Fafifed # 4 a1 o Aifve sfter 78 82
ef &t wadan &1 AfER
HATE BT HSR

FSaTd I AUPR

nen F v after
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Which one of the following is not the goal of sustainable agriculture in
India?

Reduce the use of chemical fertilizer and pesticides
Maintaining productive top soil
Mechanized farming

Keep farms economically viable

When was the First National plan for action for Children was formed?
1998
1992
1999
1990

The rating agencies Moody’s and Goldman Sachs with IMF (International
Monetary Fund) and Indian Budget 2020-2021 project India’s growth rate

for Financial Year 2021-2022 in the range of-
7-8%

10-12%

9-10%

5-7 %

Who was chief architect of India’s foreign policy after independence?
Jawahar Lal Nehru

Indira Gandhi

Mahatma Gandhi

Sardar Vallabh Bhai Patel

Which of the following strategy cannot be implemented to control the et 1 S B B AU ST e e ) o A 13

industrial pollution?

Shifting industries to remote areas in jungles

Pofafea & § o9 o1 yRa & =il $Y @1 deg 78 &2

TEIFE @R AR Feamrst B wH F9 HY
IUETS, Hudt g Ht g T

it St

Qi &) anffe wu ¥ =aed a9€ @

a=l & o ugell TPy S e @ a2
1998
1992
1999
1990

HISTHUE (SR ga1 ) ok uRdl see 2020-
21 & |y e iRt gEi iR Tieedy d9 faxia af 2021-
2022 & oW WRa Bt fAe™ & 3 I A deee S §

7-8%
10-12%
9-10%

5-7 %

WAl ¥ 918 WRd $ faew A & Fuia o &2
SATER AT A5

g migh

T Wieh

IER T@H HTE U

IR B g ShTEl § H WA S
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Employ ng environment friendly industrial process
Adoption of less polluting

Use of cleaner fuels such as LNG in power plants

Which of the following institution is government controlled and authorized
to give recognition to placement agencies for child adoption?

TARA
PARA
SARA
CARA

Who among the following adopted a policy of liberalization rather than
protecting economy from foreign businesses?

P.V. Narsingh Rao
Lal Bahadur Shastri
J.N. Nehru

Indira Gandhi

Non-democratic regimes often turn a blind eye to or suppress internal
differences.

regional
political
social

linguistic

TaiaR & g i wiear St P e
FH YU B ST
feroTel! wa= # Tereel S W3 SU_ ST Iu

T & § 19 91 TR TR §RI FOET ok o= @1 75 o % o Wi
TSR @1 AT 29 & ferg sifipa 22

GLE
T
Rt
PRI

fuffed & 4 e srfoaaen &1 A2 srqumd & sam & g Ieiew @1 iy
SHUATE?

.8, =R e
AT FEIGT Wt
AL TE
BfeRr mish

Eal o 7l

&
BICEIGE]
TS

HTaTS

AaNgl & ST o E HE O € o1 I

& vy 7% gd # maft ol @t 5 gt #1 @ g s ot T8 @ o wadef

Which article of the Indian constitution that "the health and strength of
workers, men and women, and the tender age of children are not abused
and that citizens are not forced by economic necessity to enter avocations
unsuited to their age or strength"?

Article 24
Article 15
Article 39

Article 21

What is not a conflicting point between India and Pakistan?
Kashmir

Pakistan occupied Kashmir

State sponsored terrorism

Pakistan army’s presence in Afghanistan

R WiauH & 5 srqade § Ter T § & ufae!, geul ofR Aftansit & wrea
IR A1 SR =] B HIHT I B GEUGRT e bl Sl § 3R ANRGT & 3T
IG I1 didhd & SUYd aar § vaw s & e enffe snavued | Heiey A€
fora e g1

TG 24
TG 15
ITE 39
T 21

HF-T1 YR R UTibea % s e kel fomg 1ef &7
E 2t

Ui siftgpa s

I U SHTdwarg

B # Tifeart J91 3 SufRfy
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Fundamental Rights conferred by Article 15(1) of the Constitution is

available to-

Any corporation
Any person

Citizen of India only

Only foriegner
Whose remuneration is decided by the President?

Speaker of the Lok Sabha
Comptroller and Auditor General of India
Chairman of the Union Public service commission

Attorney general of India

Who is father of ‘Non aligned Movement in India’?
Nasser

Mahatma Gandhi

Joseph Broz Tito

Jawahar Lal Nehru

The Vice-President of India also holds office of the following?
Chairman of Finance Commission

Chairman of Rajya Sabha

Chairman of Planning Commission

Chairman of Privileges Committee

TR & DT 15(1) FRT Yad T SeR 5y Suasy &2

PIs fomw
P1g WY =fed
Fad YR ARG

Faa fa=h
PRy feraat it T Pear d 2

AT F et

YR & s o wererE wiigs
U die AaT ITET F e

WRA & HEaEargt

"YRd H e R JEa & 9@ $H &7
AR

mTe it

SR w e

AR AT A5

HIRd & IwIpufa Fufaf@d ug & o aro Fw E
ot amanT & sreger

IASHHT F FHAf

TG ST & Semer
TRt wftfa & sremer
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Which of the following financial institutions laid the foundation of India's

digital payment systems?

A. Institute for Development and Research in Banking Technology

(IDRBT)

B. National Payments Corporation of India (NPCI)
C. Clearing Corporation of India Limited (CCIL)
D. Reserve Bank of India (RBI)

A, B, CandD

A,Band C

C,Dand A

Band C

Which of the following is related to ‘operation Meghdoot'?
Siachen

Bengal

Twang

Ladhakh

Fafafes § 9 f5a faxdi gwm 3 yRa 3 ffea yam womeh &t e it
A. ST S faem SiR SrEum TR (SmEStamad),

B. YR PTG YTaM e (NPCI)

C. Rd gy e fafies (cciy)

D. HRdg o &% (RBI)

A, B, C 3R D
A, BIRC
C, DIRA
B3R C

Prafefa & & 21 o e Ruga @ waf 27
R

e

it

e

I vy w3 qd & amafw gof ot o ot 21 a@: A amufiy gof e @t o wawth

Which of the following is not a Pakistan based terrorist Organisation

spreading terror in India?
Al Jehad

Al-Qaeda
Lashkar-e-Tayyaba

Jaish-e Mohammad

Which of the following is not a part of the child’s rights recognized by the

UN declaration charter ?

The right of a name and nationali

ProffEd § A SH-u1 ufswad snia sideard) e+ 78] €, S YR § 3de
e w2

3 SNETE
IE-FTaE
AYHY-T-JarE
- e

frofafed & 9§ $H- Hgea Y SN0 A1 GRI AR IS 919 SR B 9 T
g7

AT 3R T 3 St
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Opportunities to develop physically, morally and spiritually
Protection against all forms of neglect

None of the given options

Which of the following is not a noble truth given by Buddha?
Vani

Samudaya

Nirodh

Dukkha

The ‘crori system’ of the revenue collection was introduced during the
period of which of the following Mughal Emperor?

Jahangir
Shahjahan
Akbar

Aurangzeb

is also a type of commercial farming. In this type of farming, a

single crop is grown on a large area.
Food grains cultivation

Irrigated cultivation

Plantation

Beverage crops

Preamble of the Constitution was amended and the words “Soverign,
Socialist, Secular, Democratic Republic” were substituted for "Sovereign
Democratic Republic” through which amendment ?

85% Amendment w.e.f. 17-6-1995
428 Amendment w.e.f. 3-1-1977
44% Amendment w.e.f 20-6-1979

031 Amendment w.e.f. 20-11-2006

v, Afte oiv snufere wu @ elke g9 ¥ s
Wt PR FT IU&T F HRE
g o el § | B T

froffea 4 9 o7 W g8 g o T mem v W @2
amoft

Gl
Rty

=

TG WU B 'Sl wone Fafifad § ¥ fhe ge 9ue & o § gF @1 TS 4

1t T TER B AEHIAE Tl B
T TSR 3 Af H 0F 92 &7 H 1P & Hud 9 w8l

T It @t
fifera @t
&R

7 vt

o5 TN g1 Sfaur Bt udren § S faar m
SR Y, gATeETE, YR, i TR sl B HHY dediae
TURTY" & ey vl fasan a2

8537 WYY 17-6-1995 ¥ WHTE
4297 HRNYE 3-1-1977 | wurdt
447 ENYT 20-6-1979 A UHTE

93d] HRIYS 20-11-2006 & THTH



Q.No: 68 Which of the following is not correct information about major Profraa & 3 2T s 3 o 7 ad § i &

earthquakes?
A 2023 Turkey - 6.7 on Richter scale 2023 g&f - Rrex TAM W 6.7
B 2010 Haiti 7.0 on Richter scale 2010 &t 7.0 ey A w
C 2001 Gujarat 7.7 on Richter scale 2001 oRTd 7.7 fraer tUA W
D 2011- Japan 9.0 on Richter scale 2011- 99 9.0 fraey WFa w

Q.No: 69 Which of the following is not a way a nation secures its national interests? fufafad § 4 #9-3 afiF ﬁt’ﬁ R4 A QT@'E[ fedt & ﬂTﬁFcl :rsﬁm%?

A Alliances LGEUES

B Pleading RIEEI]

C Diplomatic negotiations ERIEEEIGH

D Coercive measures H?I'l]@fﬂ? Sug

Q.No: 70 Which of the following countries did not adopt the policy of non-alignment? fafaRaa & 3 fre 3w 3 eFRosm ot =it 7 semge?
A France Wwid

B Egypt i

[o} Poland s

D Indonesia ESiEib

I U WX qd A AT ool B o1 gl gl 3 TH: ST gul el S o1 FHhll

Q.No: 71 Which of the following is not a reason of soil erosion? frafafad # 9 S 1 781 e &1 HRU1 8 82
A Adopting crop rotation strategies S 9% B SEHTTTE] I ST
B Overgrazing of the vegetative cover AFWa® TGV BT AP IS
C Injudicious cropping patterns arﬁﬁa:'quf wHd det
D Indiscriminating cutting of trees. et B iy Fer|
Q.No: 72 When was Hyderabad’s annexation with India completed? TERIETE BT YR | fae e @ g 2
August ,1947 3T, 1947
B September ,1948 fider, 1948
C September, 1947 fieaw, 1947
D November, 1948 Tda%, 1948
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Which of the following is not under the scope of consumer protection act
19867

Applicable to goods purchased outside India
Application on large and small scale business
Applicable to private, public and cooperative sector

Not application to firms supplying goods as well as services

Which of the following is true in the case where
there is enough water to meet everyone's Fafafaa & § oH-

demands, yet the area nonetheless experiences T3 Ame H T € el Wt ot A @t @ B & for val ow €, 6w ot & oiw 3 ot @1 argua S g

water scarcity?

unequal distribution A faawor

Frafofad & | o Suvie ke it 1986 % gy & €Y 3w 87

WIRT & TR Ve TTE /e W A,

T$ 3R O T9H ¥ WeEy W Ided

foefi, wrdwfe ol wean! &3 & fag o

agait ¥ Fry-Try Farsit A amyfd B areht Wl & fre @y A€

much of it may be polluted by domestic and et M e e ST @t @ gl 6 2

industrial wastes.
more usage STl ST
over experimental attitude e @ W)

Who among the following has the similar process of removal of Election
Commissioner of India?

A judge of high court
A judge of Supreme court
President

Civil Servant

With respect to area, what is India’s rank in world?
Fifth

Sixth

Seventh

Eighth
In Which five year plan Nehruvian socialism came to an end?

Sixth plan
Fourth plan
Seventh plan

Fifth plan

Which of the following was not an area of conflict during the Vijay Nagar
Empire?

The Tungabhadra Doab
Marathwada
Domination over Saurashtra

Krishna-Godavari Delta

WRA ¥ Fiafer oTaE B 5o # ¥ vi Pafired A @ frea £ 2

I ETay 1 A
[ate araTerd 1 g

gt
[LIEREELY

ST & 5P ¥ YRA P RY § PH-0 wH W7
real
ol

Hradi

a4t

T daadfa diemT & Yeward! TS BT ofd g ?
ELRICE

et A

HTadt Frer

Tiadt FeET

Frafifad § 4 S 91 v TR 9@ & SR duy @1 &7 T8 ure

GUETERAE G
HITSATST

HRIY SftRTy
FUT-Tgradt ST
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Biogas digesters emit biogas which is essentially a mixture of two
compeonents. Name them:

Methane and Ethane
Carbon dioxide and Ethane
Methane and Carbon dioxide

Carbon and Calcium

Who was not the founding father of non-Aligned movement (NAM)?
Jawahar Lal Nehru

Joseph Broz Tito

Mahatma Gandhi

Nasser

Which of the following is a type of disaster?
Soil erosion

Globalization

Tides

Heat and cold waves

Who was the first leader to start an agitation for political reforms in India?
Jawahar Lal Nehru

Lala Lajpat Rai

Raja Ram Mohan Roy

Mahatma Gandhi

Which of the following is not a type of shifting agriculture technique?
Step farming in India

Jhuming in India

Ladang in Indonesia

Milpa in Central America

Which of the following is related to ‘Viticulture?

Y U dEIE SEfed $3d & w1 e Fu 9 € yed! 1 Hyu 81 3% Aam e

M o 389

B SEATRES 3R 349
AT SR T SFSTES
FTE SR Hewraw

e FRUe SHEeH (TTUTH) F TRITE HH Te 42
STETER W Age

W d@a et

HETAT i

TRR

Fffad # § $H-1 s &1 UeR 87
HaT Suve

B

R

i ok 81 we¥

YR H orios YR & 0 si<iem TR™ & G WyH ] &9 o7 ?
STATE A A5

AT TSI T

ST I HigH W

WETET TR

Fraffea & § $H-d wraia S qe-ie &1 usR T8 87
yRa ¥ R Britfn

WRd # g

SARm § wem

T e § fiear

T § ¥ $F 91 idieer § gafta 82



A Grapes R

B Oranges Y

C Lemon :ﬁi

D Apples 99

Q.No: 85 Which of the following was the main port of the Vijay Nagar Empire? Frofafad & & 9 o favm R gmeT & H©T deXig UT?
A Port Blair i =

B Malda ATl

C Calicut Frdflde

D Mumbai Has

Q.No: 86 Which of the following is not an advantage of capitalist economic system? fafef@d & & @19 goltard) snffes gomeh @1 ey =) @2

A Efficient production PUA IedTGT

B Financial incentives fo<fta v

C Efficient allocation of Resources TETYAT T FIA AT

D Financial inclusion fafta S

Q.No: 87 What is the Constitutional basis of Precedent in India? YRd B o &1 HuE snuR @1 72
A Article 14 e 14

B Article 142 T 142

C Article 136 3TV 136

D Article 141 TG 141
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The properties of State Government are acquired by the Central
Government in accordance with the provisions of an Act passed by
Parliament. The State challenges the Central Government’s action. Which
one of the following is the best legal position?

The State Government can file a petition before the Supreme Court
under Article 32 of the Constitution of India

The action of the Central Government is valid because States are
not sovereign, the Constitution is not federal in nature and contains
adequate provisions for acquisition of State properties by the
Centre under law

The State government can challenge the action of the Central
Government on the ground that in a Country like India with federal
Structure, the State’s properties could not be acquired by the
Central Government

The State Government can file a suit for declaration under Code for
Civil Procedure, 1908

What is NAM (Non Alignment Movement)?

A policy of wait and watch to take decision at last moment

A policy for not aligning with anyone but trying align all with self
A policy of intentional detachment from either block

A policy of opportunity to join any group dominating other

Who is the Head of the State under the Constitution of India?
President of India
Prime Minister

All the given option is correct.

U R UG HTUFEm & el & SER 3% TR gRI Ao TRER &1 FurE]
1 SR T ST 81 U0 $ AR 31 SRR $ Tl oar 2| Faff@a d 4
- wdfad s R &2

I PR URA F HAUH & wde 32 F ded Wdid qraTay & quef et
TR T Gl g

Fx TRPN B HHRATS I & e Toy vy A9 €, Tu wefy & wdig T8 §
IR B & dgd 5 gRI Ued Fuwal & e & e vata ways e
|

I PR Fg WHR P FRATE B 3 YR W TR $ TPdt § 5 wRa S
g g are 3% # o B ARG B Fw TR gRT AfeHiE T8
Tt gl

Y WRHR ANTG UiHar |igd1, 1908 & agd 919N & g qHe grR o
EiC i

T FARUg TSI (NAM) &7 87

sifem gor & fvfg &9 & fig wdten ot o S &t Aify
ot & Wy 7 afer wd & wry mift 7 daw w@ I A
forelt ot TE @ wgEeR srae ot Hifa

T W el g T el off T # Wit @9 & smew @t Hif

HIRT & HIGU & e T P THE P §i1 § ?
YRd F Agufa

wT A

It wt ey w8 E |
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Parliament of India

Which of the following area practice ‘gathering’ for subsistence ?
Highly fertile area of Assam

High latitude zones like Canada

Plains of Uttar Pradesh

Coastal areas of Australia

What type of effect vegetation has on soil erosion?
Negative

It is not determined.

Positive

Neutral

Identify the religious leader who had a significant impact on Shivaji.
Samarth Ramdas

Mirabai

Guru Nanak Dev

Tukaram

YR B! g

Fofafed & § 1 91 &7 Fafe & R |y &1 onarg a1 g2
SEH BT HATUF ITATS &

I & & W TS

I WA F At um

sifeeferar & adla &=

IR T TaT SUReA W fhy TSR &1 e usar 87
TERTHE

Tg Fuifva 78 &1

TSRS

T

Ryarsht & Sfia w Aeayul gy S g et @ aF 90
wad e

Himaré

% 7 3

Leant

I Wy W qd ¥ maf ool B 1 g ¥ 1 3@: T AufR ot e B A Wt

Which of the following Raja Rammohan Roy-related issues is/are correct

1. Abolition of Sati

I1. Abolition of Child marriage
III. Widow Remarriage

Iand II

I Only

II and III

I, IT and III

Which of the following is the correct sequence of soil erosion process?
Soil erosion -transportation - deposition

Deposition — Soil erosion- transportation

Transportation — Deposition - Soil erosion

Soil erosion - Deposition - transportation

Frofeied & & SiF-31/3 T TAwe M @ gafie g 9 882
1. el 91 &7 i

11. =T faamg &1 3

111, faerar g-ifaare

I 3 III

Fad 1

II o III

I,II 3% 111

Fafafea & § $H-91 gar aRe uitar &1 gt B g2
a1 3rReH-ufvag--Fdu

fyaraor - TR SrRe - uftEea

uf¥as - o - Te1 sve

7T 3rve - fréor - afiasa
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Which of the following projects in Bhutan was not related to Indian
financial aid?

Kurichhu Hydroelectic project
Regular Combined Military exercise
Dunsam Cement Plant

Dantak Border Roads

Which of the following is not a term associated with avalanche?
Crown and flank fracture avalanche

Short avalanche

e # Fafafad 4 3 @9-d uRdem yrdg Rt weman 3 deifte =56 4
ity wafigga ufdierT

ferafira wgaa 9= anare

W Hife wie

e i osd

Frofafed & € FH-w feavees 3 991 7= 74 &7
wTe 3R e e Ravae
oy fewegeH
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Q.No: 102
A

B
C
D

Q.No: 103

o 0O m »

Q.No: 104

https://mppeb.cbexams.com/MPPEB_Cand_Objections/mstet2023candobjections/ViewCandResponse.aspx

Slab avalanche

Spin drift avalanche

Which of the following is incorrect statement about Election Commission of

India?

It is a multi member body.

It is a constitutional body.

It is a quasi-judicial institution.

It is not permanent in nature.

Where is Inter Tropical Convergence Zone found?
Near Equator

Arabian Sea

Tropic of cancer

Antarctic

The concept of ‘judicial Review’ and ‘impeachment’ have been borrowed
from the Constitution of ?

USA
USSR
Canada

UK

Who elects the President of India?
Members of both houses of Parliament

Elected members of both houses of Parliament and legislative
assemblies of the states

None of the given option is correct.

Members of state legislature assemblies

Which of the following was not a part of ‘Panchsheel’ policy?
Peaceful co-existence

Mutual non-aggression

Mutual respect for each other’s territorial integrity and sovereignty

Help in each other’s internal affairs

Which of the following is equal to the maximum ground acceleration that
occurred during earthquake shaking at a location?

Peak ground acceleration (PGA)
High level Slip (HLS)
Low Level acceleration (LLA)

Peak Level Compression (PLC)

Which of the following is known as ‘Operation Shakti’?
Mission Mars by ISRO
Pokhran-I nuclear tests

Kargil war

e femeae
R we1a feuwae

R & I S B wN F FofiEd § 3 S 9 Sy e 22

T% U 95 9eH e 2
5 T Hauife e g1
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w¥E & g1 ueHl & Haw
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I A A PE Aeea o T & |
I Ry & gew
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Q.No: 105 Which of the following Mughal emperor conferred title of ‘Raja’ on social fefefaa & J 5w a0 TuTe 3 T GURE I e I S AT BT S YeH

reformer ‘Ram Mohan Roy"? i 7
A Akbar II e fidt
B Bahadur Shah qgIge W8
C Ahmed Shah 3gHe WTe
D Muhammed Shah HeHq
Q.No: 106 In which of the following state 'Closepet Series’ is located? Frofafag & 3 fre w=g & adie e fRm g2
A Delhi feecht
B Jharkhand IRGS
(o} Madhya Pradesh Heg WS
D Andhra Pradesh iy yew



Q.No: 107

o oOr

Q.No: 108
A

B
C
D

Q.No: 109

Q.No: 110
A

B
C
D

Q.No: 111

Which one of the following Directive Principle of State Policy is not a
Gandhian Principle?

The State shall to Protect and improve the environment and to
safeguard forests and wildlife

The State shall take steps to organise village panchayats

The state shall endeavor to secure a uniform civil code throughout
the territory of in India

The state shall take steps for preservation and improving the
breeds and prohibiting the slaughter of cows and other

Which of the following is not an effect of the global warming?
Extinction of Gir Lions

Increase in temperature wiping out coral reefs
Destruction of Mangrove forest

Extinction of Polar bears from Antarctica

Which of the following was not an objective of the Indian National
Congress as decided in the first session?

Promotion of friendly relations between nationalist political
workers from different parts of the country.

Presentation of these demands before the British Government.
Training and organisation of public opinion in the country.

Demanding complete freedom from British Rule

What is included in the power of judicial review of court?

Power to review orders of President

Power to review the judgment or order of inferior tribunals
Power to review the judgment of Governor

Suprintendence power over inferior courts

Which port handles the shipment of Kudremukh mines' iron ore
concentrates?

I & Hifd e fieidl # @ o9 W ue T figia 76 82

g yatawor & e 3R GUR & R 3w o) 7 g oftew &) en & R sen
g

I AT YAl 61 HafRrd $31 & o1 wen It

T YRE F I & § TP WHF ANNRSE WiEar S QR S B w6 HE0

T T ST T gUTRE Ut & e offY Al  guR ofi 9y &t ufefi@
T F g wew gewm

@ & & Fi-w wiew At &1 guE 72 82
iR 2 1 Fare g

vara Rl @ 78 $2a g aowE 4 3
TS A Aig a9

seThie® & ydita v #1 g g

Frafafed & 9 1 @ yrdh ity S &1 93w 76 01, S b v v # qu
o man ur?

T & fafim et & gardt wriifos srfwatslt & dtg gl wdet ot agmar
ol

fafew wveR % wwa 7 Wi S uga STl
A= H FHa P wiRneror R weA|
faferr wmee | of wadsar &t o s

TETea @ e THleT $t wiea § wm Wit € 2

AP & TR P THET TR Pt R

Fraeht st ¥ Frofa ar s 3 wefen T ot wifdw
IquTe & fFofat 3t wdten w3 #1 wfea

forarelt srgradt w e i

A THI & TE T B oS BT YA BIF °T S8 HAT 82

Mumbai Hﬂé
Chennai ANE
New Mangalore qﬁﬂﬁ?
Haldia gieaar
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.No: 113

.No: 114

.No: 115

.No: 116

.No: 117

.No: 118

Which of the following elections are not supervised by the Election
Commission of India?

Vice President of India
Office of President of India
State Legislatures

Supreme Court judges

Which of the following is a biodegradable waste?
Nylon

Paper

Rubber

Metals

Which type of waste materials are put in blue bins?
That can not be reused.

That are dangerous.

That can be reused.

That are non-biodegradable.

KYOTO Protocol is related to which of the following?
Water protection

Government cooperation

Environment protection

Global Health

The characteristics of communal politics are as follows. Determine which
one is incorrect..

when state favours a particular religion
one religion is presented superior to other
It occurs when religion is not expressed in politics

when the demand for only one religion is accepted

Which of the following ruler defeated Humayun in Battle of Chausa and
also at Kannauj hence forced him out of country?

Bin Kasim
Adil Shah
Sher Shah Suri

Malik Kafur

When was air transport in India nationalised?
1947
1956
1953
1967

Frfafad & § SH-91 719 YR & 19 ST gRI 8 w82
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Q.No: 122
A

B
C
D

Q.No: 123

o 0O m >

Today, the have become more important in
our national economy than all other means of transport
put together.

waterways
roadways
pipelines

railways

3T, BAIY gty apfoaw & uRage & oy Wit Wit # ger J 3ifte Hgaqul €1 78 €

e
F5F ARt

I U W gd A muf 3ol F o1 gt {1 3 [ MUy gof A F 51 w9t

Which of the following livelihood method is adopted by the
areas shown by dark color in the map given below?

MO ATLANTE

soutn
T v MMERCA| SO ATLANTE

e

Agriculture
Fisheries
Gathering

Nomadic herding

Which of the following is not a thought propagated by the heterodox school of philosophy

in India in 6 BC?
Soul is not affected by human actions as it is eternal.

Fate is everything, there is no karma.

Human beings are God and they should worship self.

Materialistic possessions are important as there is no afterlife.

Indicate which resources have known quantities.
Actual

Renewable

Potential

Biotic

2 fow U AR # TR T 9§ e T as gRT fafifad § § o O sreifaer ugfy sroHrs St 87

PeE——"

A gra=

ECIEIECARIC R |

fefRfRa iy P T URd d 6 ff ST gd &
SYTIRA & A&Thamare] f[aRYRT gRT
TeTRd faeR 78 82

TS S BrAl A ATAT U T8 gt
I a5 g1

WY § HE T 3, P FH 6 ¢

TS WA § SR S W B ge
arfeul

Wels 8 2l

fo1 e % 919 wEG ©, 96 3 B
qreafas

Tiwvoig

Futfaa

Eitrd

Which of the following was the main point of dispute between India and et 1= 1962 3 dda % G R 1 e ﬁg =5 T U

China in Indo-China war 19627
Tibet

Sikkim

Tripura

Aksai Chin

fosa
fafern

£k
3 e
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ich of the following categories of industries does Oil India Limited
(OIL) fall under?

Private sector
Public sector
Joint sector

Cooperative sector

‘Gujral Doctrine’ was related to which of the following?
Relations with Neighboring countries

Relations with USA

Relations with USSR

Relations with African countries

Which of the following is the starting point of foreign policy of India?
National interest

Non alignment

Brotherhood

Non violence

Which one of the coals is difficult to mine?
Peat

Lignite

Bituminous

Anthracite

sifaa e fafies (o1L) SomT @t Frafafea aftrd & 9 v oot & sicfa st &2

freft é
A &
w8
HEPT &

eI frgia Fafafea # ¥ frad vefia are
USRS & |y Hey

YUY (USA) & I1Y Tay
YUHTHSR (USSR) & TTY HEY

AP I S Ty ey

fafafaa # 4 $F-a yra 1 2w Ay &1 uRfae g 22
e fm

Tefredem

HEERT

afgan

Fiad § 9 fras @ o Sfed 27
ics

fermse

faefrw

gRiTEe

o Wy W ud & Sruf gel Bt o gt 21 3 Y: Smutty get e @t o wdbi

Which of the following is not a UNESCO s site in India related to
Buddhism?

MP Mahabodhi Temple Complex at Bodh Gaya
Archaeological Site of Nalanda Mahavira at Nalanda
Bihar Ajanta Caves Aurangabad, Maharashtra

Khajuraho group of monuments, Madhya Pradesh

Fofafad & § 31 &1 dig oH 9 efla HRa H gee! S 9Ee T8 62

arermar & wadt HerEy wfew ufer
Areial & ATeral HETER 1 [RIaE e
fER srsian #t TETY SfmETE, HERTY
TYRTE WIRE WHE, T U™



Which of the following was the main medium through which the feeling of

Q.No: 129 nationalism spread in British India? fofer wrea T@W B U F R T g Frafefes & & pi-a o

A Personal meetings G dod

B Press b Ll

C Railways Yad

D Telegraph Tefe
India had remained a member- of United Natiuns for long. Who among th.e 32 ST W §F e Y 1 T T frofafag # & i 1953 g

Q.No: 130 ;ogll;}rx:ng was elected the President of United Nations General Assembly in T WG P SfeE T T 4

A M.G. Ranade TSR, TS

B M.G. Gokhale .o Tae

C Satya Chandra Banerjee T °F Tl

D Vijay Laxmi Pandit forora weHt dfga

Q.No: 131 ich of the following is not a sacred tree species in India? Frofafaa & @ o9 @ yra & ue ez g vonfa T8 82

A Mangroves we T

B Mahua HESMT

C Kadamba wed

D Tulsi gt

Q.No: 132 Which of the following factors reflects in foreign relationships of a nation? FofifaT & § o 9 Fre et R4 ¥ TR Hael =1 g=ifar &2

A Geographical location Wmfere Rufy

B Population of country W B FHEE

c Military strength &= ofew

D All of the given options feu me |t fawew
Steel is required to make a wide range of engineering

Q.No: 133 items, construct}ion material.s, d.e.fence,‘ medical, St awgsit, fmfor amed, (‘&I'l, Riferam, TR IR 3 Suwl 31 v g S@en & -
telecommunications, and scientific equipment, as well as a 9Ty ¥ v fawga e o9 & g Wa # srazasar 6t 8:
wide range of:

A electric goods ferorelt &1 TTe

B Heavy goods it "

C basic goods gfardt are

D consumer goods Iquitar Hﬁaﬁ

Q.No: 134 Find the mental age of a child whose 1Q is 130 and chronological age is 15 39 &= &I HFR® EIEEIG) Fifor R q@?ﬁl 130 3R ih‘l?l‘l’j,ﬁfﬁai Y 15
years. a9 gl

A 18.5 18.5

B 19.5 19.5

[+ 17.5 17.5

D 16.5 16.5



Q.No: 135
A

B
C
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Q.No: 136
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Q.No: 137

The development of concept proceeds from-
Define to unspecific

Unspecific to general

Complex to simple

Specific to general

Nisha talks to herself out loud, "I am going to study hard for the Monday
test this time". This is an example of ?

Both Inner speech and Private speech
Private speech
Inner speech

Social speech

Which of the following is not a feature of a constructivist classroom?
Only students will share authority.

Learning groups will consist of small numbers of heterogeneous
students.

The teacher's role is one of a facilitator or guide.

Knowledge will be shared between teachers and students.

YR 1 fiepry fpw = & gar g 2
gifim & sfifke

Hfafe & wma=

wfed & e

fafare & W=

e 3R oy 9 9k A 910 B 8, "H 39 OR SR & & & R Sl fgd

¥ g 98 BT JEEI 87
3 WO 3R JAfFaE HIor St
afFre ymo

3fel: HTYOT

TS UTGOT

Frofifea & ¥ $1F @ Toard! Han o1 Qv T8 82
Fad o g AfRER AEn FaT

Hram & augl § o S § Ay o it g
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Q.No: 140
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Q.No: 141
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Q.No: 142

o 0 @

at should parents make their children to do in the order to get healthy
growth and development?

1. Should allow the child to spend some time indulging in various physical
activities.

2. Should coax a thin child to relax more and fat child to go out and play
more frequently.

3. Should allow the child to take rest after the activities.
Only 3

Both 1 and 2

Only 2

Only 1

At what stage, your baby will probably start babbling?
15 days

4-6 months

5 years

7 years

Intelligence, like electricity, is easier to measure than to define. This
statement was given by:-

Wechsler
Bine
LM Terman

Jensen

Socialisation is a process through which a *biological child” acquires
Professional Identity

Gender Identity

National Identity

Cultural Identity

Heredity is considered as a social structure

Static
Regression
Secondary

Dynamic

T ®1 @R U ¥ 3% SR fawe g 59 for - & @ s anfgee
1. ==l @ fafi yeR @1 g nfaffiE § oo g 23 Bt s & =Ry
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T =Ry
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Analyze the statement and choose the correct options

Statement (i): Physical development is rapid in infancy, but is slower
during early childhood

Statement (ii): Marked increase in muscular coordination is seen during
infancy that in early childhood

Both statements are false
Statement (i) is true and (ii) is false
Both statements are true

Statement (ii) is true and (i) is false
ich is the smallest planet of the solar system?

Mercury
Jupiter
Mars

Venus

of the Indian constitution enlist procedure for impeachment of
the President.

Article 66
Article 49
Article 19

Article 61

T BT AT B SR T fGwmed #1 am w8
A (i) Ry sraen 3 TR oo oF g 8, dfth oRfRe areg ora # dim
G

P (i) IR qed sfaeyt § Hiwisiy gaaae § Wy gfe 2 &) fad 2

S HYT TEd &
T (i) TE & S (ii) TeT
I FuT R ¥

FHUA (i) T T AR (i) T &
IRAST BT GaY BleT Tg D 91 8?2

qY
gewufa
HITd
picg

reeafa & FEifimn & fog yrdi dfaue & s S B 3

3TDG 66
TG 49
ITRT 19
TR 61



Q.No: 146 Eg::)lr:?any Seats does the State of Madhya Pradesh has in the House of eI 2 o0 A A g1 R ?ﬁ?%’

A 29 29

B 26 26

C 28 28

D 27 27

Q.No: 147 Kumbh mela is organised in which city of Madhya Pradesh? $Y B T U & by WeR H Smafrd famam S 82

A Khandwa wsar

B Ujjain Iw

C Indore Eﬂ?

D Betul @

Q.No: 148 Simplify: 86 +(14+7-1) WA Biforg: 86+ (14=7-1)

A 88 88

B 87 87

C 84 84

D 85 85

Q.No: 149 Simplify: -35+15=(3-2) TR BT —35+15+(3-2)

A 25 25

B 15 15

C 14 14

D -20 -20
In the following equation, select correct combination of  © MpesaABTRRET SRR H,

Q.No: 150 mathematical signs to replace A and balance the equation. A B it B 3R THiaR0T 1 Igferd FvA & forg miorda fergl & e wiem &1 9 )
259 A21A9A 11 A 100 259 A21 A9A 11 A 100

A T X = T X =

B +, X, =, X <, %X, =, X

¢ *ro X = +,5 %, =

D -+ = =T+ =






